HAPPY MONDAY!

1. Papers are being passed out just leave them out and | will
answer questions as a class
2. Getawhiteboard and a marker. Just grab a kleenex to use as an

eraser. \m \0rm
3. Problem of the Day wehtl -
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Practice

100 mg= g

Steps:

Identify the conversion rate
that is needed to solve the
problem.

Set up the proportion- 2
equal ratios

Solve the problem by cross
multiplying and dividing by
the left over number.

1L= mL

160 cm= mm
14 km= m
109 g= kg

250 m= km




Whiteboard Review

1) 59hm = 99,000 cm

2) 97269 = 9.72¢

3) 1549 = 15',49-0

kg

mi



Whiteboard Review
Y 56km=_S5600 m

5) 880 cg = 8% g

6) 1,000 ml = [ L




Converting between systems
Units of Length

Customary'Metric

1 inch (in.)

=~ 2.54 centimeters (cm)

1 foot (ft)

=~ 0.30 meter (m)

1 yard (yd)

== 0.91 meter (m)

1 mile (mi)

~ 1.61 kilometers (km)

Units of Weight/Mass

‘Cus.toma ry IMetric

1 pound (Ib)}~ 453.6 grams (gm)

1 pound (Ib)}~ 0.4536 kilogram (kg)

1 ton (T)

~ 907.2 kilograms (kg)

Units of Capacity

|Cu5tomary Metric

1 cup (c) ~ 236.59 milliliters (mL)
1 pint (pt) ~ 473.18 milliliter (mL)
1 quart (qt) |~ 946.35 milliliter (mL)
1 gallon (gal)j= 3.79 liters (L)




Units of Length

Customary

Metric

1 inch (in.)

~= 2.54 centimeters (cm)

1 foot (ft)

== .30 meter (m)

1 yard (yd)

~~ 0.91 meter (m)

1 mile (mi)
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Units of Weight/Mass

Customary

IMetric

1 pound (Ib)j~ 453.6 grams (gm)

1 pound (Ib)j~ 0.4536 kilogram (kg)

1 ton (T)

~ 007.2 kilograms (kg)
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Units of Capacity

Customary [Metric 4ga“0n5= \6\6 L

1 cup (<) ~~ 236.59 milliliters (mL)
1 pint (pt) ~ 473.18 milliliter (mL)
1 quart (qt) = 946.35 milliliter (mL)
Lg&llon (gal)i= 3.79 liters (L)

473.18 mL= gl




